











@ PART I: GENERAL INTELLIGENCE AND REASONING

Directions : In questions no. 1 to 6, select the|9. (A) AIUE (B) PIRE
Zicez::itwiestter/word/number from the given (C) AALT (D) TORE
10. (A) 51 (B) 171
1. Cup:Coffee::Bowl: ?
= (C) 291 (D822
(A) Dish @)/Soup
(C) Milk (D) Food 11. 48, 80, 120, 144, 192, 208
@ 80 (B) 120
. RS w 9D
2. Ink:Pen::Petrol : 2 ©) 144 ©) 192
(A) Bus (B)” Car
(C) Train Y Tractor Directions : In questions no. 12 and 13, which one
of the given responses would be a meaningful order
8. MAD:JXA::RUN: ? of the following ?
(A) 0SQ g) P 12. 1. Adult 2. Old age
(©) UX (D)/ORK 3. Adolescent 4. Childhood
' Q 5. _Infant
4. 57913 :EGIM::35816: ? @7 5,4,3,1,2 (B) 1,5,4,8,2
o - (€) 1,2,8,4,5 (D) 3,4,5,1,2
(A) CDIR (B) BCHP
(C) CEHQ : \(D/""CEHP 13. 1. Son 2. Husband
3. Grandfather 4. Brother
& 8:89::72: ? 5. Father
(A) 64 (B) 312 (A) 1,5,2,4,3 (B) 1,2,8,4,5
\(9,{51 (D) 300 (©)/1,4,2,5,3 (D) 1,2,4,5,3
W,
6 16:36::64: 2 14. Arrange the following words as per order in
: T — the dictionary :
(A) 4 (B) 6 1. Command 2.  Commit
(C) 8 @f 100 3. Connect 4. Conceive
5. Conduct 6. Commerce
Directions : In questions no. 7 to 11, select the one (A) 621543 (B) 6124583
which is different from the other three responses. (€Y 162453 (D) 126534
7. (A) Nephew (B) Niece 15. Which one set of letters when sequentially
placed at the gaps in the given letter series
(C) Uncle \(9)/ Father shall complete it ?
8 (A) HAMF (B) VNYQ a_aabb_b_aa_aabb_bb
' Y abbab (B) bbbaa
(€) KCOG Dy FKOR (C) babba (D) aabbb
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Directions : In questions no. 16 to 18, a series is
given, with one number/letter missing. Choose the
correct alternative from the given ones that will
complete the series.

16.

17.

18.

19.

20.

21.

112, 124, 156, 208, ?

[

(A) 316 (BY 280
(C) 292 (D) 304
96,101, 126,187, 2
(A) 296 (B) 306
(C) 300 (D) 297

BAFEJIPO ? U

@ v (B) T

(C) 8 (D) Q

A woman has only 25 p and 50 p coins in her
bag. If in all she has 40 coins which fotal

< 12-75, then the number of 50 p coins is

(A) 15 (B) 17
(€) 11 (D) 13
(i) A and B can speak Tamil and

Malayalam.
(ii) C and D can speak English and Hindi.
(iii) B and D can speak Malayalam and
Hindi.
(iv) A and C can speak Tamil and English.

One who speaks English, Hindi and
Malayalam is

(A) A (B) B

© ¢ @D

The age of Sunita’s father today is four times
as that of her age. After 8 years, the age of
her father will be three times that of her age.
What is Sunita’s age today 2.

(A) 24 years (B) 20 years

(C) 18 years (D) 16 years

Directions : In questions no. 22 and 23, from tl
given alternatives select the word which cannot |
formed using the letters of the given word.

22,

25.

26.

MISAPPREHENSION

(A) RESPONSE

(B) HAPPINESS

(C) PERSON

(D) BENSES
CONCEPTUALIZATION

(A) ACTUAL (B) PETAL
(C) TROL (D) TOTAL

In a certain code, DOWNBEAT is written a
TABEWNDO. How will the word PROSPEC
be written in that code ?

(A) TCEPSORP
BY" TCPEOSPR
(C) TCPESOPR
(D) TCPEOSRP

If SENSATIONAL can be written as
12314567348, how will STATION b
written in that code ?

(A) 1455673
(B) 1545763
(C) 1554673
(82/1/545673

If MILITARY can be written as
1,2, 3,2, 4,5, 6, 7, how can LIMIT be written
in that code ?

Ay 32124
(C) 12324

(B) 42123
(D) 42125
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927. I 65+T7=21and9+4=381,whatis7+9=2
(A) 41 (B) 51
(C) 461 (D) 71

28. If 532 + 781 = 21 and 862 + 910 = 21, then
what is the value of 796 + 355 =7

(A) 21 @ﬁo
(©) 81 (D) 22

29. If*‘~ stands for ‘+’; ‘+ stands for *<; ‘+’ stands
for ‘=’ and ‘< stands for ‘+, which one of the
following is correct ?

(A) 10+5-5+5x5=10
(B) 10-5+5+5x5=2b
(C) 10x5+5+5-5=0
(\D)A.0+5x5+5=5

30. If the word DIPLOMAT is written as
FKRNQOCV, then AMBASSDOR can be

written as
(A) COECMMFQS
(BY CODCUUFQT

(C) COCBOOFQS
(D) COADQQFRS

Directions : In questions no. 31 and 32, select the
missing number from the given responses.

31. 3 5
2
60 70 144
(A) 18 (B) 48
32. 6 18 9
12 36 18
24 7?7 36
(A) 18 ({) 72
(C) 54 (D) 60

33. Prem, Rakesh, Roshan, Sanjay, Tanuj, Udit
are sitting at equal distances in a circle and
are facing the centre. Roshan is third from
Prem in the right. Rakesh is third from Tanuj
from the left. Udit is between Prem and
Tanuj and Sanjay is third from Udit in the
left and right. Who is opposite Tanuj ?

(B) Prem
(D) Sanjay

(A) Roshan

@/ Rakesh

84, Brinda goes 30 km towards North from a
fixed point. Then after turning to her right
she goes 30 km. After this she goes 30 km
after turning to her right. How far and in
what direction is she from the starting point ?

(A) 60 km East
(B) 30 km East
(C) 60 km West
\ay/ 30 km South

Directions : In questions no. 35 to 37, one/two
statement(s) are given, followed by two/three
conclusions I II and III. You have to consider the
statement(s) to be true even if they seem o be at
variance from commonly known facts. You have to
decide which of the given conclusions, if any, follow
from the given statement(s).

35. Statement:

To be happy in life, you should solve your
problems than try to avoid them.

Conclusions :
I. Life will be dull if you don't have
problems.

II. To avoid problems you should have
solutions ready.

(A) Only conclusion I follows
(B) Pnly conclusion II follows
Neither conclusion I nor II follows

(D) Both conclusions I and II follow
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36. Statements:

1. All sportsmen have good physique.

9. Some employees are sportsmen.

Conclusions :

I. All employees have good physique.

II. Some men with good physique are not
gportsmen.

(A) Only conclusion I follows

(B) Only conclusion II follows

(g)}o/th the conclusions follow

(D) None of the conclusions follows

87. Statement:
Should seniority be the only criterion for

the promotion ?
Conclusions :

I. No, it would be an injustice to those

juniors who are more deserving.

II. Yes, otherwise senior employees feel

humiliated.

[II. Yes, senior employees are more

experienced and must be rewarded.

(AY III is most appropriate
(B) 1is most appropriate
(C) 1and III are most appropriate

(D) Iand II are most appropriate

38. Find out the figure which best represents the

relationship among Garden, Rose and

Jasmine.
Slel®le-
O
(A) (B) (C) (D)

39. The diagram represents Teachers, Singers
and Players. Study the diagram and find out

how many teachers are also singers.

Teachers

—> Singers

(A) 4 (B) 5
(Cr 9 (D) 13

40. The figure represents three classes of youth
in a village. How many educated youth are

poor ?
Educated
1 [ Employed
17 \5
Poor
h«d B) 9
(C) 6 (D) 19
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41. Which digit will appear on the face opposite
to the face with number 4 ?

2 6

(B) 5
(D) 2

) 6

42. Four positions of a dice are given below.
Identify the number at the bottom when top

®19191%

({3)/5’

Directions : In questions no. 43 to 45, which
answer figure will complete the pattern in the
question figure ?

46.

43. Question figure :
?
|
Answer figures :
X ?
LN\
(A) (B) (C) (D)

Question figure :

@

2]

©

Answer figures :

»

(A)

(B)

Question figure :

K%

2D e
?

Answer figures :

\cy

(D)

S

e 3

e

-3

(A)

(B)

Question figure :

Z

Answer figures :

(C)

(D)

Directions : In questions no. 46 and 47, from the
given answer figures, select the one in which the
question figure is hidden/embedded.

Ei

K

=

(A)

(B)

(C)

)
N
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